RCHEM 2/ Chille scurveday1
SOLUBILITY CURVES
Use Table G: Solubility Curves

FINDING GRAMS
1) What is the maximum amount of NaCl that can be dissolved in 100 grams of H,O at 20°C ?
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2) What is the solubility of IKNO; at 50°C?
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3) How many grams of Kl does it take to saturate 100 grams of H,O at 20°C ?
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FINDING TEMPERATURE
4) At what temperature will 10 grams of SO, saturate 100 grams of H,O ?
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FINDING TYPE OF SOLUTION :
5a) 40 grams of KCl are dissolved in 100 grams of water at 60°C. What type of solution is this,
unsaturated, saturated or supersaturated?
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5b) 50 grams of NH,Cl are dissolved in 100 grams of water at 40°C. What type of solution is this,
unsaturated, saturated or supersaturated?
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THE “BIG” PROBLEM

6a) If you add 120 grams of NaNO, to 100 grams of H,0 at 20°C, will all of it dissolve?
b) If not, how much of the NaNO; remains undissolved?

c) What type of solution is this unsaturated, saturated or supersaturated?

d) Without adding more water, what can you do to make all 120 grams of NaNO; dissolve?
e) After dissolving all of the NaNO;, what type of solution do you have then?

4) _S/AOL 7%( SNAN03 ~ 874

p WL\/ 87\f oF 7£L /204 rBLe8 L ssolve .
-5 /evg 420
20 C

/204
/We&
8) /205 — 874 = 334 wndissofveR } .
,Shﬁ(,r&f
C) Since  max’ dissofved af 20°C/ 175 Saturafed .

334
”Q> 2{/17/ 71 5(,))2 %mﬁrcf/nmeafa Termp fo abou

é) _Safk/afcﬁ af s,

gl <y

/25/415"%51’43 Et/wy 'po/nf m /XL corve [s Safurafed

DOING A RATIO '
7) At 70°C, how many grams of KCIO; will saturate 200 grams of H,0?
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